m B Al B KSR R

(B%)

oo % B HE(Keg) HEOG 2 & hE(%) FHEH
1 * ¥ ~N Y 800, 017 26.0| 2 94,504, 911 8.6 68
2 = ES el E 362, 682 11.8 4 34,719,575 5.5 96
3 |k ~ ~ 304, 459 9.9 1 88, 116, 043 13.8 289
4 = (A : A 231, 556 1.5 8 23, 354, 806 3.7 101
5 |[F A W L & 199, 568 6.5 10 21,631,428 3.4 108
6 s W 3 Y 146, 982 4.8 3 41,2172, 469 6.5 281
1 (& S (A 114, 336 3.7 25 6,810, 771 1.1 60
8 < ~ C ~ 94, 845 3.1 14 14,137,179 2.2 149
9 = El 82,190 A 34,054,074 5.4 414
0" £ — = v 12, 586 241 6 29, 590, 802 4.6 408
LR ) A L & 67, 660 2.2 15 14,020, 236 2.2 207
12 'L 3 A 67,076 2.2 16 13,006, 443 2.0 194
13 |8 F 96, 891 1.9 9 21,928, 461 3.4 385
4 = = + < k 56, 496 1.8 1 25,468, 113 4.0 451
5 7 o v a3y — 40, 032 1.3] 12 15, 059, 503 2.4 376
6 F 5 1 A £ 5 21, 851 0.9 13 14, 269, 353 2.2 912
17 | H» ES 5 Ay 26, 286 0.9 28 5,314, 086 0.8 202
18 | M A 25,181 0.8 34 3,284,521 0.5 130
19 | C ES D Ay 24,964 0.8 24 71,131,960 1.1 286
20 2 o T £ If 23, 826 0.8 36 3,109, 364 0.5 131
21 'L & C 19, 852 0.6 21 8,675,112 1.4 437
22 |IZ 5 18, 479 0.6 23 1,322,718 1.2 396
23 | C (& 3 16, 911 0.6 217 6,512, 369 1.0 385
24 ' L W f= 7 15,187 0.5 17 12,710, 853 2.0 841
2 |7 R N T A R 13,135 0.4 11 18,020, 714 2.8 1,372
26 | 5 & 12,8217 0.4 26 6, 796, 591 1.1 530
21 L & 5 N H 11, 567 0.4 18 10, 751,132 1.7 929
28 | i AN (A b 11, 486 0.4 31 3,753,918 0.6 3217
29 | |2 ) — 9,827 0.3 33 3,695, 868 0.6 376
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(B 3)

o % H HE(Ke) R T & #E E (%) THBE
30 | IZ A < < 9,325 0.3 19 9, 460, 854 1.5 1,015
31 | & & < 8,933 0.3 35 3,213,294 0.5 360
32 b [+ =3 1,821 0.3 30 4, 635, 780 0.7 592
3 = &£ 3 AN 1,576 0.2 38 2,311,058 0.4 313
¥ FrhyT U4 6,316 0.2 45 1,861,963 0.3 295
3% B % X 5,036 0.2 42 2,141,818 0.3 425
36 | A & 5,008 0.2 41 1,494, 611 0.2 298
37 | & & Ly b 4,753 0.2 44 1,915, 402 0.3 403
3 | A# 2 & & 4,383 0.1 49 1,437,826 0.2 328
¥ & 5 v 5 2 L 4,255 0.1 43 2,132,136 0.3 501
40 | E — S 3,740 0.1 29 4,746, 499 0.7 1,269
M|z v 2 A £ 5 3,493 0.1 32 3,710, 242 0.6 1,062
42 | # &£ 3 A 3,338 0.1 22 1,488, 439 1.2) 2,243
423 | F 7 =z 3,060 0.1 40 2,263, 680 0.4 740
44 | X E3 2,889 0.1 20 8,714,141 1.4 3,037
4  n A = A 2,675 0.1 48 1,472,224 0.2 550
46  » L b h 2,481 0.1 55 806, 617 0.1 325
47 | A i+ A 2,307 0.1 41 2,206, 150 0.3 956
48 | % =) ES & 2,148 0.1 46 1,561, 366 0.2 121
9 »n v 7 3 7 — 2,114 0.1 61 499, 114 0.1 236
50 | /N t ) 1,793 0.1 39 2,282, 256 0.4 1,213
51 L v A & ( 1,500 0.0 52 1,037,232 0.2 691
902 | R (DN ATE 1,372 0.0 54 1,008, 720 0.2 135
53 5 E 1,334 0.0 57 688, 954 0.1 516
S Hh v b H X 1,19 0.0 59 579,075 0.1 485
% b o T & 3 1,150 0.0 58 674,028 0.1 286
56 F (A = I+ 1,121 0.0 53 1,022, 556 0.2 912
57 5 988 0.0 37 2,862,290 0.4 2897
8 & A & S5 T W 125 0.0 64 228, 960 0.0 316
59 | D [+ AN 692 0.0 62 469, 508 0.1 678
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(B 3)

o % H HE(Ke) R T & #E E (%) THBE
60 L L&ESHBL 581 0.0 50 1,175, 256 0.2 2023
61 T ¥ v L v o195 0.0 56 128, 903 0.1 1,415
62 | — J % 471 0.0 51 1,174, 356 0.2 2493
63 | 2 ES H X 454 0.0 68 149, 655 0.0 330
64 z R N 408 0.0 69 145, 789 0.0 357
65 | % = ES & 397 0.0 60 523,768 0.1 1,319
66 12 A 12 < F 321 0.0 65 220, 644 0.0 675
67 L z 251 0.0 63 333, 925 0.1 1,330
68 | 1= F o < 220 0.0 75 73,008 0.0 332
69 ¥ v a2 - L4 188 0.0 66 188, 767 0.0 1,004
0 & Y 142 0.0/ 70 123, 045 0.0 867
JARRI ES o 17 0.0 67 180, 222 0.0 1,540
12 | b =) [6) 102 0.0 74 85,677 0.0 840
3 FF A A~ A4 ¥ 52 0.0 73 90, 920 0.0 1,748
14 | % e & 34 0.0 76 70, 632 0.0 2077
75 | El o 33 0.0/ 72 99, 436 0.0 3,013
6 B A ® 13 0.0 78 96, 538 0.0 4,349
| 1= =) D 3* 12 0.0 77 99, 731 0.0 4,978
8 | b & (63 9 0.0 7 100, 602 0.0 11,178
9 & s 2 s 4 0.0 80 221 0.0 ol
80 & S5 » B L 3 0.0/ 79 11,459 0.0 3,820
1 TOMEEXRSE 3,252 0.1 4 1,140, 184 0.2 351
2 TOMENHE 2,811 0.1 1 1,691, 639 0.3 601
3 T o R X HE 2,195 0.1 3 1,312, 848 0.2 598
4 = 0o it £ Y #E 1,934 0.1 5 487, 858 0.1 252
9 TOMEFEDOTIYE 1,232 0.0, 2 1,634, 961 0.3 1,327
6 £ o o H X 392 0.0/ 6 409, 574 0.1 1,045
T % ot R R 46 0.0 7 106, 704 0.0 2320

F X H 3,074,483 100.0 636,507,160  100.0 207
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(R%)

]

e ) = HE(Kg) HEOG ZH 2 8 LI (%) FHEIE
1 |7 Ly h 635, 849 36.5| 1 179, 120, 376 27.1 282
2 | VR 7+ 285, 896 16.4 5 54,751, 862 8.3 192
3 A m] > H 233, 527 13.4 2 115, 210, 188 17.4 493
4 y A Z B 134, 060 1.7 4 58,916, 699 8.9 439
5 w5 Z H 103, 739 6.0 3 87,436, 759 13.2 843
6 NLYIOT7HLIY 33,087 1.9 17 8,739,116 1.3 264
17 B i) 4] 17,160 1.0 11 4,193, 748 0.6 244
8 |&# M A & 15, 907 0.9/ 6 20,408, 112 3.1 1,283
9 gL—F27)IL—vY 13, 141 0.8 14 2,752,893 0.4 209
10 nNA 7y 7T 11, 855 0.7 13 3,139, 346 0.5 265
11 v = > 11, 048 0.6| 10 4,388, 413 0.7 397
12 Fo949 7L —-Y 8,787 0.5 9 4,727, 430 0.7 538
13 & & S5 B 1,789 0.1 12 3,864, 834 0.6/ 2,160
14 5 P) & P) 1,226 0.1 8 5,863, 859 0.9 4,783
15 3 &3 H 41 0.0 15 1,412, 856 0.2/ 3,000
16 | O H 247 0.0 17 471, 312 0.1 1,908
17 L 5 5 < 230 0.0 16 489, 456 0.1 2,128
18 | ¢ &3 3 128 0.0 18 203, 688 0.0 1, 591
1 z O i W B 8 226, 504 13.0| 1 98, 031, 762 14.8 433
2 TOMMBTFERFTRE 5,975 0.3 2 6,076, 436 0.9 1,017
3 | o # B = 1,486 0.1 3 715, 684 0.1 482
4 ZTOMI—R#Z%ESE 45 0.0/ 4 32,076 0.0 713

e = H 1,742,157 100.0 660, 946, 905 100.0 379

(B, NI

o & = HE(Keg) HEOG I 2 8 L (%) FHELE
1 + ue L 35, 383 52.6| 1 4,169, 980 24.9 118
2 1= o H 13,732 20.4| 2 3, 605, 391 21.5 263
3 |2 A I » < 1,666 2.5 b 420, 746 2.5 253
4 ' I+ b D F 1,332 2.0/ 3 862, 859 5.1 648

R

BRHELHEH

20184 584 ~

20184 584




(BEN, MMIT &)

e

o g 8 ME(Ke) HEOG S & B HEO) THEME
5 f~lF® I mI & 801 1.2 4 569, 558 3.4 111
6 % * K & 370 0.5/ 6 386, 774 2.3 1,045
1 AN e) & 3 245 0.4 7 170, 446 1.0 696
8 | &R = & 55 0.1 9 13,764 0.4 1,341
9 1 F £ W Z A 52 0.1 8 93, 744 0.6/ 1,803
0w+ L W = 1 0.0/ 10 11, 556 0.1 11,556
1 TofmIRE 6, 326 9.4, 2 1,625,715 9.7 257
2 T oMmI % x 3,578 9.3 1 2,761,459 16.5 172
3 | o M T & 2,625 3.9/ 3 1,217,720 1.3 464
4 T OMhEBERRE 984 1.5 4 673, 920 4.0 685
5 T OB X 132 0.2) 5 113, 844 0.7 862

EWM. mMI&E 67,282 100.0 16,757,476 | 100.0 249
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